Surya SenMahavidyalaya

A Multi-stream Govt. Aided College & Recognised by UGC u/s 2(f) &12(b) and NAAC Accrediated

Dr. P.K.Mishra Principal



Ph No: (0353) 2691488 / 489
P.O. Siliguri Town,
Surya Sen Colony, Block-B,
Siliguri.Dist. Jalpaiguri Pin – 734004
e-mail:suryasen@suryasencollege.org.in
www.suryasencollege.org.in

Tender NOTICE No. SSM/T/ CB/16/ 2021 Dt. 28/07/2021

ISO 9001:2015

Sealed tenders are invited from the experienced and reputed vendors for the following work at the College (Construction of Ground Floor for Toilet). The Last date of submission is 6th August 2021 (5.00 P.M). The details of the Work is attached herewith. The maximum Value of the work: Rs. 3, 00,000/- (Rupees Three Lacs Only).

The interested vendor is requested to visit the College in any working day for detailed of the work before the scheduled work. The details proposal with item wise amount along with a non-refundable tender fee of Rs. 500/- (Rupees Five Hundred) payble On line through On line Payment Portal available in our college website home page www.suryasencollege.org.in — On line payment-Tender fee, after filling up of the details.

The authority keeps the right to cancel this notice without assigning any reason thereof.

Ger

(Principal)

GROUND FLOOR

Description of Items

Qty. Unit

sl. no.

- Dismantling R.C. floor, roof, beams etc. including cutting rods and removing rubbish as directed within a lead of 75 m. including stacking of steel bars
 - (a) In ground floor including roof.

			L.S.	=	3.00 Cum.
1	13.00	0.30	0.15	=	0.59 Cum.
1	8.00	0.30	0.45	=	1.08 Cum.
1	4.00	2.00	0.15	=	1.20 Cum.

5.87 Cum. 5.87 Cum.

- Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75 m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete.
 - (a) Depth of excavation not exceeding 1,500 mm.

2	2	2	2.5	=	20.00 Cum.	
1	9	0.5	0.6		2.70 Cum.	
1	3	0.5	0.6	=	0.90 Cum.	
					23.60 Cum.	23.60 %Cum.

3 Single Brick Flat Soling of picked jhama bricks including ramming and dressing bed to proper level and filling joints with local sand

2	2.00	2.00	=	8.00 Sqm.	
1	12.00	0.50		6.00 Sqm.	
1	9.00	3.00	=	27.00 Sqm.	
				41.00 Sqm.	41.00 Sqm.

4 (II) Cement concrete with 30 mm down graded shingles excluding shuttering. N.B. Variety

In ground floor.....(a) 1:3:6 proportion 0.80 Cum. 2.00 0.1 2.00 2 0.60 Cum. 0.50 0.1 12.00 1 2.70 Cum. 3.00 0.1 9.00 5.00 Cum. L.S. 9.10 Cum.

9.10 Cum.

Dr. P. K. Mishra
Principal
Surya Sen Mahavidyalaya
Siliguri-734004

Qty.

1

Ordinary Cement concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement if any, in ground floor as per relevant IS codes

(ii) Riv	ver Bazre	e				
2	1.90	1.90	0.45	=	3.25 Cum.	
2	1.40	0.60	0.60	=	1.01 Cum.	
_		0.40	0.40	=	0.96 Cum.	
2	3.00	0.30	0.45	=	2.03 Cum.	
1	15.00	10.0	0.45	=	2.03 Cum.	
1	15.00	0.30			3.38 Cum.	
1	9.00	3.00	0.13		12.66 Cum.	12.66 Cum.
					12.00 Cum.	

Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binders etc initial straightening and removal of loose rust (if necessary), cutting to requisite length, hooking and bending to correct shape, placing in proper position and binding with 16 gauge black annealed wire at every intersection, complete as per drawing and direction.

	2.00%	7850	=	1987.62 Kg	
12.66	2.00%	7030	i z.	1.99 MT	1.99 MT

7 Hire and labour charges for shuttering with centering and necessary staging upto 4 m using approved stout props and thick hard wood planks of approved thickness with required bracing for concrete slabs, beams and columns, lintels curved or straight including fitting, fixing and striking out after completion of works (upto roof of ground floor)

(upto ro	ot ot gro	una noor,			6.84 Sqm.	
	4	1.90	0.450	=	6.64 Sqiii.	
2	4	1.40	0.600	=	6.72 Sqm.	
2	4	3.00	0.400	=	9.60 Sqm.	
1	2	15.00	0.450	=	13.50 Sqm.	
	2	15.00	0.450	=	13.50 Sqm.	
1	1	9.00	3.000	=	27.00 Sqm.	
1		15.00	0.125	=	1.88 Sqm.	
1	1	15.00		·	79.04 Sqm.	79.04 Sqm.

Dr. P. K. Mishra

Principal

Principal

Sen Mahavidyalayi

Sen Mahavidyalayi

Sen Mahavidyalayi

GROUND FLOOR

Description of Items

Unit

Jl. no.

> Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor). [Excluding cost of chipping over concrete surface]

(ii) With 1:4 cement mortar(b) 15 mm thick plaster

					61.62 Sqm.	6
		1	L.S.	=	10.00 Sqm.	
2	3.00	1.600			9.60 Sqm.	
2	15.00	0.450			13.50 Sqm.	
1	9.125	3.125			28.52 Sqm.	

61.62 Sqm.

Artificial stone in floor, dado, staircase etc with cement concrete (1:2:4) with stone chips, laid in panels as directed with topping made with ordinary or white cement (as necessary) and marble dust in proportion (1:2) including smooth finishing and rounding off corners including raking out joints or roughening of concrete surface and application of cement slurry before flooring works using cement @ 1.75 kg/sq.m all complete including all materials and labour. In ground floor.

3 mm. thick topping (High polishing grinding on this item is not permitted with ordinary cement). Using grey cement

(iii) 35 mm. thick

1	9.00	3.00	27.00 Sqm.	
			27.00 Sqm.	. @

@ ADD: **CGST SGST** ADD:

ADD: LABOUR CESS@

Or. P. K. Mishra
Principal
Principal
Surya Sen Mahavidyalaya
Siliguri-734004